
 

Claim Output of GS SA is man optimal

Pf Cbg contradiction There exist a man who does not recite his
OBSIbest valid partner Man in is the firmanwho gets

rejected by his best valid partner w

W rejects m because of m m E w

m Ww is a valid partner of m Fstabh math Sst s

m w CS

Supp w is matchof m in S
m w is unstable for S cannothappXIf w3

w has rejected inwow
m
w

m got rejected by a valid partner before m was first
such men contradiction

Claim GS is woman pessimal SAI
Pf Suppose min CSA and rn is not worst
valid partner of w
exist a stable matching S s t msw and

Am wm ma.s g.hr

Say r is match of m in S I
GS is man optimal wz w

mm m show
is unstable

for S

name entitialobjeets and study the interaction


